

3.(ii)  $\tan \theta + \frac{1}{2} \tan \frac{\theta}{2} + \frac{1}{2^2} \tan \frac{\theta}{2^2} + \frac{1}{2^3} \tan \frac{\theta}{2^3} + \dots$  (1)

we know  $2 \tan \theta = \cot \theta - 2 \cot 2\theta$  (K)

D(4) Maths  
paper-1st, 6th-A  
summation of series  
Dr. G.D. Singh

$$k_2 = \tan \frac{\theta}{2} = \cot \frac{\theta}{2} - 2 \cot \theta$$

$$k_3 = \tan \frac{\theta}{2^2} = \cot \frac{\theta}{2^2} - 2 \cot \frac{\theta}{2}$$

$$k_4 = \tan \frac{\theta}{2^3} = \cot \frac{\theta}{2^3} - 2 \cot \frac{\theta}{2^2}$$

$$\vdots$$

$$k_n = \tan \frac{\theta}{2^{n-1}} = \cot \frac{\theta}{2^{n-1}} - 2 \cot \frac{\theta}{2^{n-2}}$$

$$\therefore \tan \theta = \cot \theta - 2 \cot 2\theta$$

$$\frac{1}{2} \tan \frac{\theta}{2} = \frac{1}{2} \cot \frac{\theta}{2} - 2 \times \frac{1}{2} \cot \theta$$

$$\frac{1}{2^2} \tan \frac{\theta}{2^2} = \frac{1}{2^2} \cot \frac{\theta}{2^2} - 2 \times \frac{1}{2^2} \cot \frac{\theta}{2}$$

$$\frac{1}{2^3} \tan \frac{\theta}{2^3} = \frac{1}{2^3} \cot \frac{\theta}{2^3} - 2 \times \frac{1}{2^3} \cot \frac{\theta}{2^2}$$

$$\frac{1}{2^{n-1}} \tan \frac{\theta}{2^{n-1}} = \frac{1}{2^{n-1}} \cot \frac{\theta}{2^{n-1}} - 2 \times \frac{1}{2^{n-1}} \cot \frac{\theta}{2^{n-2}}$$

Adding we get

$$\tan \theta + \frac{1}{2} \tan \frac{\theta}{2} + \frac{1}{2^2} \tan \frac{\theta}{2^2} + \frac{1}{2^3} \tan \frac{\theta}{2^3} + \dots + \frac{1}{2^{n-1}} \tan \frac{\theta}{2^{n-1}}$$

$$= \frac{1}{2^{n-1}} \cot \frac{\theta}{2^{n-1}} - 2 \cot 2\theta$$

2nd part

when  $n \rightarrow \infty$

$$= \frac{1}{2^{n-1}} \cot \frac{\theta}{2^{n-1}} - 2 \cot 2\theta$$

$$\tan \frac{\theta}{2^{n-1}}$$



$$= \lim_{n \rightarrow \infty} \frac{\frac{\theta}{2^{n-1}} \times \frac{1}{\theta}}{\tan \frac{\theta}{2^{n-1}}} - 2 \cot 2\theta \quad (2)$$

$$= \lim_{y \rightarrow 0} \left( \frac{y}{\tan y} \right) \times \frac{1}{\theta} - 2 \cot 2\theta \quad \text{when } y \rightarrow 0$$

$$= 1 \times \frac{1}{\theta} - 2 \cot 2\theta = \frac{1}{\theta} - 2 \cot 2\theta$$

$\lim_{\theta \rightarrow 0} \frac{\theta}{\tan \theta} = 1$

(ii)  $\sec \theta \sec 2\theta + \sec 2\theta \sec 3\theta + \sec 3\theta \sec 4\theta + \dots$  to infinity

$$tr = \sec \theta \sec (r+1)\theta$$

$$= \frac{1}{\cos \theta \cos (r+1)\theta} = \frac{1}{\sin \theta} \times \frac{\sin 2\theta}{\cos \theta \cos (r+1)\theta}$$

$$= \frac{1}{\sin \theta} \cdot \frac{\sin \{(r+1)\theta - r\theta\}}{\cos r\theta \cos (r+1)\theta}$$

$$= \frac{1}{\sin \theta} \left[ \frac{\sin (r+1)\theta \cos r\theta - \cos (r+1)\theta \sin r\theta}{\cos (r+1)\theta \cos r\theta} \right]$$

$$= \frac{1}{\sin \theta} \left\{ \frac{\sin (r+1)\theta \cos r\theta}{\cos (r+1)\theta \cos r\theta} - \frac{\cos (r+1)\theta \sin r\theta}{\cos (r+1)\theta \cos r\theta} \right\}$$

$$tr = \frac{1}{\sin \theta} \{ \tan (r+1)\theta - \tan r\theta \}$$

$$t_1 = \frac{1}{\sin \theta} \{ \tan 2\theta - \tan \theta \}$$

$$t_2 = \frac{1}{\sin \theta} \{ \tan 3\theta - \tan 2\theta \}$$

$$t_3 = \frac{1}{\sin \theta} \{ \tan 4\theta - \tan 3\theta \}$$

$$t_n = \frac{1}{\sin \theta} \{ \tan (n+1)\theta - \tan n\theta \}$$

$$S = \frac{1}{\sin \theta} \{ \tan (n+1)\theta - \tan \theta \}$$



(ii)  $\frac{\sin \theta}{\sin 2\theta \sin 3\theta} + \frac{\sin \theta}{\sin 3\theta \sin 4\theta} + \frac{\sin \theta}{\sin 4\theta \sin 5\theta} + \dots$  (3)

$\{2, 3, 4, \dots = 2+(r-1)1 = 4r-1\}$

$$tr = \frac{\sin \theta}{\sin(r+1)\theta \cdot \sin(r+2)\theta} = \frac{\sin \{ (r+2)\theta - (r+1)\theta \}}{\sin(r+1)\theta \sin(r+2)\theta}$$

अज्ञे गते

(i)  $\frac{1}{\cos \theta - \cos 3\theta} + \frac{1}{\cos 3\theta - \cos 5\theta} + \frac{1}{\cos 5\theta - \cos 7\theta} + \dots$

Here  $tr = \frac{1}{\cos \theta - \cos(2r+1)\theta}$

$$= \frac{1}{2 \sin \frac{(2r+2)\theta}{2} \sin \frac{2r\theta}{2}}$$

$$= \frac{\sin \theta}{2 \sin \theta [\sin(r+1)\theta \sin r\theta]}$$

$$= \frac{1}{2 \sin \theta} \left[ \frac{\sin \{ (r+1)\theta - (r\theta) \}}{\sin(r+1)\theta \sin r\theta} \right]$$

अज्ञे गते

Rough  
 3, 5, 7, 9, ...  
 अज्ञे गते  
 = 3 + (r-1)2  
 = 3 + 2r - 2  
 = 2r + 1